MH B KAl
Ta ) — T = RANT —H
Hfrt gz I RS a—R4
FIERIFEA T —PAT— R
T A AR A B — | Hh 530m
T 4= 2 iR 390m
M EER KHE JER s 7= 140m
1AH 2 KH
TRy B AR a—At v — B ROF
AIEH - A - WGy s AIEH - A - HAT B
AiAE#E - B - HH R AiAE#E - B - TR AR
AIEH - C - i RAE
TR %L 23(22) A S — b IRERE 13:30 TP %K 23(20) A A — R 14:10
KA EEN =H N— K KA BN =H N R
A —b/T 4=y R A=K7 4=y v 2R 2°C / 4C
F=890
JIEfS7 Ap—=b -p - 1AXH 2&KH & B L—X
No No K4 Fr B 4 S = 157 | < 157 N G N
1 15 g = AN R~ 45.07 44.99 1:30.06 0.00
2 13 i && AN R A 48.68 54.66 1:43.34 131.24
3 14 Al R AN R A 53.04 59.67 1:52.71 223.83
4 11 (LI w A/ R A 59.56 55.74 1:55.30 249.43
5 16 JIMR FHK AN R A 1:07.46  51.84 1:59.30 288.96
6 12 HHE L AN R A 1:41.19 50.84 2:32.03 612.41
DID NOT START [1st RUN] 0
DID NOT FINTISH [1st RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
05-01-2013 / AR KT A X —4 GM8 / 1

DATA PROCESSING by SE I KO

TIMING by SET KO



MH

F=890
JIERE Ap=] =§ EEEE 1AXH 2&KH A& 5 L—X
No No K4 Fr B 4 R B OB B OBEF O ARAU b
DID NOT FINISH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
05-01-2013 / A KT A X —4 GM8 / 2

DATA PROCESSING by SE I KO TIMING by SET KO



MS B KAl
INFURAE 2
Ta ) — T = RANT —H
Hfrt gz I RS a—R4
FIERIFEA T —PAT— R
T [y i A B — | Hh 530m
T 4= 2 iR 390m
M EER KHE JER s 7= 140m
1AH 2 KH
a—RAt vy H— HA R a—RA vy H— B2
AIEH - A - WGy s AIEH - A - HAT B
AiAE#E - B - HH R AiAE#E - B - TR AR
AIEH - C - i RAE
TR %L 23(22) A S — b IRERE 13:30 TP %K 23(20) A A — R 14:10
KA EEN =H N— K KA BN =H N R
A —b/T 4=y R A=K7 4=y v 2R 2°C / 4C
F=890
JIEfS7 Ap—=b -p - 1A 2AKBH A # L—2x
No No K4 Fr B 4 S = 157 | < 157 N G N
1 21 901371 /INEL 5L =4:SC 48.51 48.60 1:37.11 0.00
2 28 mHE 5z A E EN 52.25  51.47 1:43.72 60.58
3 29 957839 By T —=4&SC 52.34  56.01 1:48.35 103.01
4 22 TERE T AN R A 54.98  55.49 1:50.47 122.44
5 24 /INBR 7 AN R A 57.91 1:04.48 2:02.39 231.69
6 26 RrEs  FHK )[04~ N = 1:07.55 1:06.59 2:14.14 339.37
727 RME FEKRR i[53y N 1:11.32 1:12.33 2:23.65 426.53
8 30 USSR =R )[04~ N 1:22.37 1:19.38 2:41.75 592.42
DID NOT START [1st RUN] 3
23 FNEy HEk IS
25 M FFF0 F-hibE S
31 = Iy N =
DID NOT FINISH [1st RUN] 0

05-01-2013 / A KIFA X —4

GM8 /1

DATA PROCESSING by SE I KO

TIMING by SET KO
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F=890
JIERE Ap=] =§ EEEE - 1AXH 2&KH A& 5 L—X
No No K4 Fr B 4 R B OB B OBEF O ARAU b
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINTSH [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0
05-01-2013 / A KT A X —4 GM8 / 2

DATA PROCESSING by SE I KO TIMING by SET KO



FH - KAl
INFURAE 2
Tal— T =N T—H
Heffif & I RS a— 24
ABRKFEAF—FPAa— R
T A AR A B — | Hh 530m
T 4= 2 iR 390m
M EER KHE JER s 7= 140m
1AH 2 KH
TRy B AR a—At v — B ROF
AIEHR - A - Wiy ek AIER - A - R -aA
miE#H - B - =R R miE#H - B - TR
AiEH - C - W JEAE
TP %K A A — bR 13:30 HEFR %R 23(20) A K — MR 14:10
KA =H N— R KA BN EL] N— K
A —b/T 4=y R A=K7 4=y v 2R 2°C / 4C
F=890
JIEAL Ag=h B 1AXH 2&KH & B L—X
No K4 Fr B 4 S T = 7 I = 5 D N G N
DID NOT START [1st RUN]
DID NOT FINISH [1st RUN]
DISQUALIFIED [1st RUN]
DID NOT START [2nd RUN]
DID NOT FINISH [2nd RUN]
DISQUALIFIED [2nd RUN]

05-01-2013 / A KIFA X —45

GL8 / 1

DATA PROCESSING by SE I KO

TIMING by SET KO



FS - Klalks
INFURAE 2
Ta ) — T =ANT —H
Heffif & I RS a— 24
ABRKFEAF—FPAa— R
5% kG R A B — | Hh 530m
T 4= 2 iR 390m
M EER KHE JER s 7= 140m
1AH 2 KH
TRy B AR a—At v — B ROF
AIEHR - A - Wiy ek AIER - A - R -aA
miE#H - B - =R R miE#H - B - TR
AiEH - C - W JEAE
TP %K 23(22) A K — N 13:30 TP %K 23(20) A K — MR 14:10
KA PN E ] N— R KA PN EL] N— K
AB—1T 4=y a KR AB—bT 4=y 2 KR 2°C / 4C
F=890

JENL Ap-h -b BEEE 1AH 2KH H 8 L—=A

No No K4 o’ 4 R M B W K M AL b

1 2 FAFE FRE F-bbhF Ih 1:01.96 1:00.81 2:02.77 0.00

2 1 B EESE HrIESBC 59.59 1:11.03 2:10.62  56.91
DID NOT START [1st RUN] 0
DID NOT FINISH  [lst RUN] 0
DISQUALIFIED [1st RUN] 0
DID NOT START [2nd RUN] 0
DID NOT FINISH  [2nd RUN] 0
DISQUALIFIED [2nd RUN] 0

05-01-2013 / A KF A F—5; GL8 / 1

DATA PROCESSING by SE I KO

TIMING by SET KO



